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AQA AS Law – Unit 2: The concept of liability (AS Law02)
Introduction
The answers to the exam practice questions provided in Unit 2 of My Revision Notes AQA AS Law (AS Law02) are given below, in the order they appear in the text. 
Section A: Introduction to criminal liability
Topic 9: Underlying principles of criminal liability including non-fatal offences
Exam practice (page 93)
Jason has organised a party at his home to celebrate his 18th birthday. Unfortunately, Dave and Mike, who were not invited, hear about this and decide to gatecrash the party. When they enter the house, Jason asks them to leave but Dave refuses, and threatens to ‘see he suffers a nasty accident when they next play football’.

Jason picks up a beer glass and hits Dave over the head with it – the glass shatters and causes Dave to suffer serious cuts. One of these is a deep gash to his cheek which will probably leave a permanent scar.
1. Discuss Dave’s criminal liability in respect of his behaviour towards Jason.  











[8 marks]
Answer
Because of the threat uttered by Dave, he could be charged under s.39 of the Criminal Justice Act 1988 with assault. This offence is defined as ‘intentionally or recklessly causing the victim to apprehend immediate unlawful personal violence.’ The case of Constanza confirms that words alone can constitute the actus reus. There is no need for the victim to be afraid, although in this case, it is likely that Jason would be worried about Dave’s threat. The mens rea is either intention or subjective recklessness, and here it could be argued that the words used indicate intention. The major difficulty if a decision is made to charge Dave with assault is the issue of ‘immediacy’. In Smith v Chief Constable of Woking Police, it was ruled that, although there was not an immediate threat, it was sufficient that the defendant had instilled in the victim an apprehension of what he might do next. However, the fact that the threat clearly deals with some future event – when they next play football – would probably be too far into the future to qualify as assault.
2. Discuss Jason’s criminal liability for the injuries suffered by Dave. 
[8 marks]

Answer

Given the severity of the injuries sustained by Dave, Jason would be charged under either s. 20 or s. 18 of the Offences against the Person Act 1861 with inflicting/causing grievous bodily harm and wounding. The actus reus of both offences is identical in terms of the level of injuries. GBH was defined in Saunders as serious harm, and the deep gash to the cheek which could result in permanent scarring would certainly qualify as serious harm. The serious cuts would also meet the definition of wounding laid down in C(a minor) v Eisenhower – any injury that breaks both the inner and outer layers of skin.

The only difference between the two offences under ss.20 and 18 is the mens rea required – for s.20 it is intention or recklessness as to causing some harm, and for s.18 – a specific intent offence – it is intention to cause serious harm. As Jason effectively used the glass as a weapon, the Crown may decide to prosecute him under s.18 as this makes it easier to prove the necessary intent – even if the injuries caused to Dave were not Jason’s direct intent or objective. Using the oblique intent rule (from Woollin), a jury could convict him under s.18 GBH if it believed that serious injury was a virtually certain consequence of his action and he recognised this. If he was not convicted under s.18, he almost certainly would be convicted of the lesser charge under s.20 as his action in hitting Dave over the head with a glass was at least reckless as to causing some harm.
Topic 10: The courts: procedure and sentencing
Exam practice (page 99)

Jason has organised a party at his home to celebrate his 18th birthday. Unfortunately, Dave and Mike, who were not invited, hear about this and decide to gatecrash the party. When they enter the house, Jason asks them to leave but Dave refuses, and threatens to ‘see he suffers a nasty accident when they next play football’.

Jason picks up a beer glass and hits Dave over the head with it – the glass shatters and causes Dave to suffer serious cuts. One of these is a deep gash to his cheek which will probably leave a permanent scar.
1. Outline the pre-trial procedure which would be followed if Dave were to be charged with assault (a summary offence).




[5 marks]
Answer

Having been charged with the offence by the police, Dave would be brought before magistrates for a preliminary hearing. The charge would be read out and Dave would have to confirm his name and address. As he is charged with a summary offence, magistrates would have exclusive jurisdiction of his case. At this hearing, Dave would be represented by a duty solicitor who would be able to request bail under the Bail Act 1976 under which there is a presumption in favour of bail being granted, especially for minor offences. A request for legal aid could also be made. Dave would then be asked if whether he wished to plead ‘guilty’ or ‘not guilty’. If he entered a ‘guilty’ plea, magistrates could decide to sentence him immediately. They could also adjourn the sentencing hearing in order to request a pre-sentence report from probation officers. If Dave chose to plead ‘not guilty’ the magistrates would adjourn the case for a trial hearing.
2. Assuming that Dave is convicted of an offence, briefly outline the factors which the court would take into account before he is sentenced.

[5 marks]
Answer

The factors which courts take into account prior to sentencing are both aggravating and mitigating factors. Aggravating factors are those which will increase the sentence imposed whereas mitigating factors are those which work in the defendant’s favour and will lighten the sentence. Examples of aggravating factors are: previous convictions, offence committed while on bail, breach of trust, impact on victim. Mitigating factors include – young offender, first offence, genuine remorse shown by the defendant such as an offer to compensate the victim, and an early guilty plea. In this case, assuming Dave is about the same age as Jason, this would count in his favour, as would an early guilty plea and the fact that this may be his first offence.
Section B: Introduction to tort
Topic 11: Liability in negligence
Exam practice (page 105)

Mary is a customer at Great Value supermarket. She is walking beside the wine department when John, a newly-employed shelf-stacker, approaches pushing a heavily-loaded trolley with cases of wine. Because he has almost finished his shift, John is pushing the trolley quite fast. When John is alongside Mary, a case of wine falls from the trolley and one bottle strikes Mary, causing a broken cheek bone. As a result, she has to attend hospital where she is told to stay off work for at least two weeks to recover. She also has to cancel a holiday that she was due to go on.
1. Briefly explain what the tests are to decide whether a duty of care is owed, and discuss whether John owed Mary a duty of care.



[8 marks]
Answer

The modern test is the incremental approach laid down in Caparo v Dickman which requires that the damage/harm was reasonably foreseeable, there was sufficient proximity between claimant and defendant and finally that it is fair, just and reasonable to impose a duty of care. 

In Jolley v Sutton Borough Council  it was foreseeable that boys would try and repair an old boat on council-owned land and be injured by it. In Langley v Dray it was foreseeable that police chasing a speeding car might be exposed to the risk of injury by increasing their speed to keep up with it. 

Proximity means closeness in terms of time, space or relationship. In Bourhill v Young the pregnant claimant was descending from a tram when she heard a motor accident. She did not actually witness it but later saw blood on the road and suffered nervous shock and a miscarriage. It was decided that injury to the specific claimant was not foreseeable as she was not in the immediate vicinity of the accident.

The final test is usually referred to as the ‘policy test’ under which judges are able to limit the extent of this tort to prevent ‘the floodgates opening’. In Alcock v Chief Constable of South Yorkshire relatives who suffered nervous shock from watching the Hillsborough disaster on TV were not owed a duty of care because it would open up the possibility of too many claims.

In this case, it could be argued that if an employee pushes a heavily-loaded trolley too fast, it is reasonably foreseeable that someone could be injured; there is no problem with proximity as Mary was beside John at the time.  As for the policy test, the circumstances of this accident do not fit into any of the recognised policy exceptions such as public organisations or nervous shock. Accordingly, it is likely that it will be ruled that John owed Mary a duty of care.

2. Assuming that John did owe Mary a duty of care, discuss whether he was in breach of that duty.







[8 marks]
Answer

The court will decide whether or not John was in breach by considering whether he had behaved as the ‘reasonable shelf-stacker’ would have behaved, taking into account relevant risk factors. The fact that he was a new employee will not be taken into account following the decision in Nettleship v Weston where a learner driver was compared to a reasonably proficient and experienced driver. 

As for risk factors, there was a high probability of harm in pushing a heavily loaded trolley too fast, and the resulting harm could have been (and indeed was) serious if a case of wine fell onto a customer. This is similar to the situation in Paris v Stepney, where it could also have been foreseen that the potential consequences would be serious. Considering the practicality of precautions, it is clear that a reasonable shelf-stacker would not have loaded the trolley so full, and certainly would not have pushed it so fast. There were no costs involved in taking greater care.

Taking these relevant risk factors into account, it is likely that John will be found to have breached his duty of care.
Topic 12: The courts: procedure and damages
Exam practice (page 110)

Mary is a customer at Great Value supermarket. She is walking beside the wine department when John, a newly-employed shelf-stacker, approaches pushing a heavily-loaded trolley with cases of wine. Because he has almost finished his shift, John is pushing the trolley quite fast. When John is alongside Mary, a case of wine falls from the trolley and one bottle strikes Mary, causing a broken cheek bone. As a result, she has to attend hospital where she is told to stay off work for at least two weeks to recover. She also has to cancel a holiday that she was due to go on.
1. Briefly explain how a court calculates an award of damages, and explain what types of damages Mary may be able to claim.



[8 marks]
Answer

Damages are awarded in order to compensate the claimant and to put the claimant in the position he/she would have been in had the tort not occurred. They are divided into special and general damages. Special damages are damages for loss of earnings and medical costs from the tort up to the date of the trial and thus are easily calculated. 

General damages are awarded for future losses of earnings and medical costs, which are both pecuniary losses. Additional non-pecuniary damages are awarded for the injury itself, pain and suffering and loss of amenity (loss of enjoyment of life).

In this case, Mary would be given special damages to compensate her for the two weeks’ loss of earnings together with any medical costs incurred. She would also receive general damages in relation to the injury she sustained and the pain and suffering associated with that injury, and for any loss of amenity. Further general damages would be awarded for the costs of the cancelled holiday and this could include an award for further loss of amenity. Finally, the judge would consider if additional damages needed to be awarded for possible future medical expenses or loss of earnings. As the total amount of damages would be unlikely to exceed £10,000, these would be paid in a lump sum.

2. Identify the court and track most likely to be used in a claim by Mary against John.










[5 marks]
Answer

There are three separate tracks used for all civil claims: small claims track is used for claims up to £10,000 (but the limit for personal injury claims is £1000); the next track is fast track used for claims between £10,000 and £25,000 and such claims are always heard in the County Court by a circuit judge; the final track is multi-track which deals with claims over £25,000. Generally, claims between that amount and £50,000 are heard in the County Court, and claims in excess of £50,000 are heard in the High Court – Queen’s Bench division. As this claim is not likely to exceed £10,000, it will be directed to the fast track in the County Court. 
Section C: Introduction to contract
Topic 13: Formation of contract
Exam practice (page 118)

James wanted his kitchen painted and he telephoned William, a painter and decorator, who had been recommended by a friend. William was not in so James left a message on his telephone answering machine asking when he would be available to do the work and mentioning that the friend had said that William had charged him £750. William sent a text saying ‘I might be available next week.’  James then sent a text saying ‘OK, that’s agreed, you will do it next week for £750.’ The following day Ben tells James that he will do the work for £700 and can start straight away. James agrees, but Ben doesn’t actually start until the next week and he says that it will take longer than he thought and cost £800.
1. Outline the rules that apply to acceptance of an offer.


[8 marks]
Answer

Acceptance is unqualified and unconditional agreement to all the terms of the offer and it can be by words or conduct. 

It must be communicated. In Felthouse v Bindley the court refused to regard the defendant’s silence as acceptance. It can also be inferred from conduct. The principle seems to be that when you start to implement what is in the offer, you have accepted it.

If a method of acceptance is specified, it must be complied with. However, in some circumstances another, equally good method might suffice (Tinn v Hoffman). If no method is specified, any method will do, as long as it is effective.

There are also rules that apply when the ordinary postal system is used. Acceptance is valid when posted, even if the letter is lost in the post. Revocation is valid when received. In Household Fire Insurance v Grant (1879), a letter was lost in the post; nevertheless, there was a proper acceptance and a binding contract.

When instantaneous methods are used, it is clear from Entores v Miles Far East that acceptance is immediate as long as it is communicated. Such methods include telephone, fax and e-mail, and acceptance is immediate as long as it gets through.

2. Discuss whether there is a contract between James and William.
[8 marks]
Answer

The issues here are whether there is a valid offer and a valid acceptance. James first of all makes a general enquiry when he leaves a message on William’s answering machine. For William’s reply to constitute an offer it would have to be certain. This means that its terms must be clear and definite, without any ambiguity, and his statement that ‘he might be available’ seems too vague to be an offer.  

James seems to treat William’s statement as an offer, but it could be argued that his statement ‘OK that’s agreed, you will do it next week for £750’ is itself an offer because it is clearly a statement of the terms on which he is willing to be bound and it is also communicated to William because James sends him a text. 

But for there to be a valid contract William would have to communicate his acceptance. It is clear from Felthouse v Bindley that silence cannot constitute acceptance. Following that case James cannot assume from William’s silence that he agrees. There is therefore no contract.

Topic 14: Breach of contract and the courts: procedure and damages
Exam practice (page 125)

James wanted his kitchen painted and he telephoned William, a painter and decorator, who had been recommended by a friend. William was not in so James left a message on his telephone answering machine asking when he would be available to do the work and mentioning that the friend had said that William had charged him £750. William sent a text saying ‘I might be available next week.’  James then sent a text saying ‘OK, that’s agreed, you will do it next week for £750.’ The following day Ben tells James that he will do the work for £700 and can start straight away. James agrees, but Ben doesn’t actually start until the next week and he says that it will take longer than he thought and cost £800.
1. Explain what is meant by breach of contract and assuming that there is a contract between James and Ben, discuss whether Ben is in breach of that contract.









[8 marks]
Answer

Breach of contract occurs when a party fails to perform an obligation under a contract. Actual breach is when there is a failure to fulfil an obligation under the contract or to fulfil it to the required standard.

Anticipatory breach occurs when one party shows by express words or by implications from his or her conduct at some time before performance is due that he or she does not intend to observe his or her obligations under the contract.

Performance of all the terms of the agreement are required and by not starting straight away there appears to be an actual breach by Ben, and by saying that it will cost more and take longer than agreed, it could be argued that there is an anticipatory breach. This is similar to cases like Hochester v De La Tour and Avery v Bowden, and in both these cases it was open to the injured party to treat the contract as being at an end, to sue for damages right away rather than wait for the breach to actually occur.

So it appears that Ben is in breach of contract, and it could be argued that by not starting when agreed, saying it will take longer and cost more than agreed, there is breach of condition, which means a fundamental term, going to the root of the contract. James would therefore be able to repudiate the contract.

2. Explain how the court will calculate any damages that might be payable by Ben to James.









[8 marks]
Answer

The principle of damages is to place the injured party, as far as possible in the same situation with respect to damages as if the contract had been performed (Robinson v Harman).
The rule used is that in Hadley v Baxendale, that losses are recoverable if they are reasonably within the contemplation of the parties as a probable result of the breach.

The principle was applied in Victoria Laundry v Newman Industries (1949), in which a boiler was not delivered on time. Damages for the loss of profits from the laundry business were recoverable, but losses from not being able to take up a lucrative dyeing contract were not recoverable, because the defendant company had no knowledge of this contract and could not be expected to have had it in contemplation.

In this case, Ben would have in contemplation that James might suffer some inconvenience and be forced to get someone else to do the work, perhaps at greater cost (it is not clear whether Ben knew that James had originally expected to pay £750). Ben is not aware of any additional costs that might result from the work being delayed, so these would not be recoverable.

James would be expected to mitigate his loss, i.e. to do what he reasonably can to minimise the loss. In British Westinghouse v Underground Electric Railway of London there was a contract for the supply of turbines, but those supplied were not efficient and the buyer replaced them with turbines that were more efficient than those specified in the original contract. It was held that the financial advantages gained from the new turbines had to be taken into account. So James would be expected to do his best to ensure that the work was done as cheaply as possible in order to ensure that what Ben has to pay is reasonable, and arguably if James were able to find someone else willing to complete the work on the same terms as agreed with Ben, Ben would not have to pay any damages at all.
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